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Warm up:  Simplify the following
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Examples:  Simplify and then state the values for x that make the expression undefined.
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Examples:  Multiply.  Assume that all expressions are defined.
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Examples:  Divide.  Assume that all expressions are defined.
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Mixed Practice:
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Simplify and also, state x-values that make the expressions undefined.
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 Warm up:  Simplify the following 4 problems. Be sure to state restrictions on the variables. 


1. 






2. 
Multiply or divide. Write your answer in simplest form. Be sure to state restrictions on the variables. 

3. 
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MAX and Min Quadratic Problems

1. After t seconds, a ball tossed in the air from the ground level reaches a height of H feet given by the equation:
    H(t)  = 144t – 16t2. 

a. What is the height of the ball after 3 seconds?

b. What is H(4)?

c. What is the maximum height the ball will reach?
2. A rocket carrying fireworks is launched from a hill 80 feet above a lake. The rocket will fall into the lake after exploding at its maximum height. The rocket’s height above the surface of the lake is given by  h = –16t2 + 64t + 80.

a.
What is the height of the rocket after 1.5 seconds?

b.
How long will it take for the rocket to reach the maximum height?
c. What is the maximum height reached by the rocket?
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